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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Use multiplication rules to determine the missing remainder for each problem.

1) 542÷10 = 54 r     2      2) 68÷10 = 6 r     8      

3) 92÷5 = 18 r     2      4) 26÷10 = 2 r     6      

5) 8,486÷10 = 848 r     6      6) 238÷10 = 23 r     8      

7) 597÷10 = 59 r     7      8) 145÷2 = 72 r     1      

9) 984÷2 = 492 r     0      10) 716÷2 = 358 r     0      

11) 7,932÷2 = 3,966 r     0      12) 2,620÷10 = 262 r     0      

13) 5,109÷2 = 2,554 r     1      14) 8,467÷2 = 4,233 r     1      

15) 50÷5 = 10 r     0      16) 6,791÷2 = 3,395 r     1      

17) 603÷5 = 120 r     3      18) 3,920÷5 = 784 r     0      

19) 943÷5 = 188 r     3      20) 90÷5 = 18 r     0      

Answers

1. 2

2. 8

3. 2

4. 6

5. 6

6. 8

7. 7

8. 1

9. 0

10. 0

11. 0

12. 0

13. 1

14. 1

15. 0

16. 1

17. 3

18. 0

19. 3

20. 0
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